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Sketch the slope field for each differential equation.
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For each problem, find the particular solution of the differential equation that satisfies the initial
condition.  Sketch the solution on the provided graph.

7)  
dy
dx

 = xy2, y(2) = -
1

3

x

y

-4 -3 -2 -1 1 2 3 4

-4

-3

-2

-1

1

2

3

4

8)  
dy
dx

 = 2x y , y(-1) = 
9

4

x

y

-4 -3 -2 -1 1 2 3 4

-4

-3

-2

-1

1

2

3

4

9)  
dy
dx

 = 
e x

y2
, y(2) = 

3
3e2 + 2

x

y

-4 -3 -2 -1 1 2 3 4

-4

-3

-2

-1

1

2

3

4

10)  
dy
dx

 = 2e x - y, y(-3) = ln
2e3 + 2

e3

x

y

-4 -3 -2 -1 1 2 3 4

-4

-3

-2

-1

1

2

3

4

11)  
dy
dx

 = 
x
y2

, y(2) = 
3

7

x

y

-4 -3 -2 -1 1 2 3 4

-4

-3

-2

-1

1

2

3

4

12)  
dy
dx

 = 
2x

e2y
, y(2) = 

ln 9

2

x

y

-4 -3 -2 -1 1 2 3 4

-4

-3

-2

-1

1

2

3

4



©H [2l0W1M5P BKTumtTaD iSxoLfTtpwdaMraeA tL_LcCn.\ \ wAultlD Krbiag[hDtLs^ `rLe`swezrHvMekdv.B Q PM[aadYe[ zwyiut\hL UIpnhfqixnbivtjeV CCNazlacvuLlquksw.

Worksheet by Kuta Software LLC

Calculus

Slope Fields

Name___________________________________  ID: 1

Date________________

©z t2q0w1[5j _KfuHtSag `SeoYfRtrwXaRroel wLNLKCu.n ` `AclYlS drLiwgjhAtZs[ Xr^eosCeHruvHeqdj.

-1-

Sketch the slope field for each differential equation.
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For each problem, find the particular solution of the differential equation that satisfies the initial
condition.  Sketch the solution on the provided graph.
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